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SECTION-A
i) General Awareness

Which of the following countries of South

America comprises of Lithium triangle ?
(A) Chile

(B) Argentina

(C) Bolivia

(D) All of the above

Who is also known as Iron Man of India ?
(A) Sardar Vallabhbhai Patel

(B) Dadabhai Naoroji

(C) Jawaharlal Nehru

(D) None of the above

Global Energy Transition Index 2019
was recently released by

(A) World Economic Forum (WEF)

(B) International Monetary Fund
(IMF)

(C) Food and Agricultural Organization
(FAO)

(D) None of the above

Who is also known as Patriot of Patriots ?
(A) Mahatma Gandhiji

(B) Subhas Chandra Bose

(C) Motilal Nehru

(D) None of the above

5. Which of the following statement given

below is/are true about Pradhan Mantri
Ujjwala Yojana ?

i. It aims to safeguard the health of
women and children by providing
them with a clean cooking fuel —
LPG.

ii. Itensures women's
empowerment, especially in rural
India, the connections will be
issued in the name of women of
the households.

Choose the right option given below.
(A) Only iis true

(B) Only ii is true

(C) Bothiand ii are true

(D) None of the above

What is AQI stands for interms of
environmental pollution ?

(A) Air Quality Index

(B) Air Quantity Index

(C) Air Sensitivity and Quality Index
(D) None of the above

Which of the following mobile application
launched by Central Government to
locate Janaushadi outlets and generic
medicines ?

(A) Janaushadhi Sugam

(B) E-Janaushadhi

(C) E-Janaushadhi 2.0

(D) None of the above
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8.

10.

What is KYC stands for interms of

Banking and Business ?
(A) Know Your Colleague
(B) Know Your Customer
(C) Know Your Caller

(D) None of the above

What is the objective of Jaldoot

initiative of Central Government

which was recently in news ?

(A) A scheme of connecting inland
waterways of the country

(B) Atravelling exhibition which will take

the message of water conservation

to masses

(C) Providing safe drinking water

through pipelines to the remote

areas of the country

(D) None of the above

What is IFSC stands for interms of

Indian Banking System ?

(A) Indian Financial Statutory Code
(B) Indian Finance Service Code
(C) Indian Financial System Code

(D) None of the above

13.

12.

13.

What is Lunar Reconnaissance Orbiter
(LRO) which was recently in news ?
(A) Itis a NASA’s moon orbiter

(B) Itis a ISRO’s moon orbiter

(C) Itis a ESA's moon orbiter

(D) All of the above

In which of the following sports Golden
Ball Award is presented ?

(A) Football

(B) Tennis

(C) Golf

(D) None of the above

What is K2-18b which was recently in
news ?

(A) Itis the only planet orbiting a star
outside the solar system, recently
scientists found that it has both
water and temperatures that could
be habitable

(B) It is a new hybrid nuclear reactor

plant installed at Tarapur nuclear

station with the technical support
of Canada

(C) It is the new mega solar power

plant built on the banks of Narmada

river

(D) None of the above



8.

10.

S vl R % wrer ¥ FErEd (KYC)
1 qaes 2

(A) =T Fa FeAm
(B) 7 g FERH
(C) 1 g FHleer
(D) 39 HF HIE T

BT €1 H FHTEI A T 5 G0N o Segd
AT FT LI F 8 7

(A) 3 F ARG STEEFI B e i
T IS

(B) TS ITAT TR S ST TLE T G
S-S ek g aTa

(C) 33 TETS &A1 A TG = HIeam
& gefara e 3Uesy HAT

(D) 3% H ¥ IS Tal

I St Jonet # IFSC 1 Haed &
(A) 3feam weTiREe R Frg
(B) 3T wrsg Hidg e

(C) 3fem wremirrer Rren %13
(D) I H | s T

11.

12.

13.

MKG-XXX/TECHJIHG/1T/06
T E H g § w1 w0 A IE
(Te. 330, F e ?
(A) & 11 1 T w5 8
(B) ¥E 3&U il Th =93AM 2
(C) TE $uHT F UF W5 B
(D) 3 H & Tt

3 & fore @ o Tiieed S H R
s g ¢

(A) FeaTe

(B) 2f=

(C) Tew

(D) 3% | & g A=

BT & H guTErl § T K2-18b e 7

(A) % Hsd & aree frdt an it
ST ATl U HTE U ©, B 6
H it 3w # 7 F=t o iR
AT 21 HISE 2 S @ 9 2

(B) T®FATSI ol qhiTeh! HETHAT 8§ AT
TTHTY] T T TG OF 41 BI5iee
gy freset ®

(C) % FHaT ) % T2 T = T U
T G S w0 R

(D) 3 H & FIS 4



MKG-XXX/TECHJIHG/1T/06

14,

15.

16.

17,

(C)

Which of the following International
cricket stadium is also called as Mecca
of Cricket ?

(A) Lord's

(B) Eden Gardens
(C) Adelaide oval

(D) None of the above

Which of the following country/ies
given below is/are the member of G-7
countries ?

(A) Germany

(B) USA

(C) Japan

(D) AIl of the above

Which one of the following Indian
cricketers given below bestowed the
sobriquet of Sultan of Multan ?

(A) Sachin Tendulkar

(B) Sourav Ganguly

(C) Virender Sehwag

(D) None of the above

What is the main aim of 1995 BASEL
BAN amendment which is recently
became an international law after
Croatia ratified it ?

(A) Prohibition of Global hazardous
waste dumping

Prohibition of cross boundary
movement of endangered animal
and plants

Prohibition of usage of POP’s
(Persistent Organic Pollutants)

None of the above

(B)

(D)

18.

19

20.

Braboume cricket stadium is situated at
(A) Mumbai

(B) Bengaluru

(C) Kochi

(D) None of the above

What is the main purpose of the project

SURE of central government ?

(A) The SURE project is a commitment
by India’s apparel industry to set a
sustainable pathway for the Indian
fashion industry and contributes to
a clean environment

(B) This is the flagship project of central

government which aims to provide

free higher education to all the girl

Childs in the country

(C) This is the flagship project of the
ministry of drinking water and
sanitation which aims to provide
clean drinking water in the major
cities of the country

(D) None of the above

Maharaja Ranjit Singh Junior Gold Cup
is associated with which of the following
sports ?

(A) Hockey

(B) Cricket

(C) Rugby

(D) None of the above
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22.

23.

24.

25.
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i) General Intelligence and Reasoning Ability

LLAMS : SMALL, select the similar pair
out of the options given below.

(A) SRENID : DINERS
(B) CHART : TRACH
(C) BARK : KRAB
(D) TREE : EERT

Select the best alternative.
Fruit : Banana : : Mammal : ?

(A) Cow (B) Snake
(C) Fish (D) Sparrow

In a certain code, TELEPHONE is written
as ENOHPELET. How is ALLIGATOR
written in that code ?

(A) ROTAGILLA (B) ROTAGAIL
(C) ROTAGILER (D) ROTEGILA

IfA+B=2CandC +D=2A, then
(A) A+C=B+D

(B) A+C=2D

(C) A+D=B+C

(D) A+C=2B

In a certain code, INACTIVE is written as
VITCANIE. How is COMPUTER written
in the same code ?

(A) PMOCRETU (B) ETUPMOCR
(C) UTEPMOCR (D) MOCPETUR

26.

27.

28.

29.

30.

In a family, the father took i) of the cake
and he had 3 times as mﬁch as each
of the other members had. The total
number of family members is

(A) 3
(C) 10

(B) 7

(D) 12

If O = 16, FOR = 42, then what is
FRONT equal to ?
(A) 61

(C) 73

(B) 65
(D) 78

The height of an equilateral triangle is
10 cm. Its area is
100

(A) 5 cm?

(B) 30cm?

(C) 100cm?

100
(D) ﬁcmg

If NOIDA is written as 39658, how will
INDIA be written ?

(A) 36568 (B) 63568

(C) 63569 (D) 65368

In a 100 m race, A covers the distance
in 36 seconds and B in 45 seconds. In
this race A beats B by

(A) 20m (B) 25m

(C) 225 m (D) 9m
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21.

22.

23.

24,

25.

LLAMS : SMALL, =t faw o ferspedi #
o 38 GHH ST g |

(A) SRENID : DINERS

(B) CHART : TRACH

(C) BARK :KRAB

(D) TREE : EERT

ey 39gFa famed # 9A |
e : Al FHEE ;2

(A) T (B) @
(C) et (D) R

UF F18 % d8d TELEPHONE Fi
ENOHPELET ferar siran 2, @ 36t #ie
% d8d ALLIGATOR =i form ware forman
ST 2

(A) ROTAGILLA (B) ROTAGAIL
(C) ROTAGILER (D) ROTEGILA

JEA+B=2C3MC+D=2A
(A) A+C=B+D

(B) A+C=2D

(C) A+D=B+C

(D) A+C=2B

U IS & ded INACTIVE =i VITCANIE
foman sran 2, a1 36 T & awa
COMPUTER =1 fore warre foran smam 2

(A) PMOCRETU (B) ETUPMOCR
(C) UTEPMOCR (D) MOCPETUR

26.

27.

28.

29.

30.
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3R 98 uftar % 3= veEt g fow g
T =1 7 om o, A wfEw d g9
fora we=m 2 2
(A) 3

(C) 10

(B) 7
(D) 12

afe O = 16, FOR = 42, § FRONT = ?

(A) 61 (B) 65
(C) 73 (D) 78
o guarg fys i Famg 10 6. 2, @
JHEHT GG TR BT 2
100
(A) —é—ia‘.tﬁﬁ
(B) 30#..2
(C) 100 ¥.1.2

(D) 1—\?;- g .2

32 NOIDA =1 39658 feran simar 2, at 36t
1 INDIA =it =31 forar s 2

(A) 36568 (B) 63568
(C) 63569 (D) 65368

100 iR F A H, A 36 TFS A IS F
T AT € S B 3 45 Tk H W A 7,
AMIEASHA, BH i gl A euar e ¢
(A) 207, (B) 25H.

(C) 22.5H. (D) 9.
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31.

32.

33.

34,

35.

If VEHEMENT is written as VEHETNEM
then how MOURNFUL be written in that
code language ?

(A) MOURLUFN
(B) MOUNULER
(C) OURMNFUL
(D) URNFULMO

From 1 o'clock afternoon upto 10 o'clock
in the night, the hands of a clock will be

at right angle times.
(A) 10 (B) 9
(C) 18 (D) 20

In a certain code language, ‘617’ means
‘sweet and hot’, ‘735’ means ‘coffee
is sweet' and '263' means ‘tea is hot'.
Which of the following would mean
‘coffee is hot' ?

(A) 731

(B) 536

(C) 367

(D) None of these

Cat is related to Kitten in the same way
as Fish is related to

(A) Fry (B) Fawn

(C) Fin (D) Foal

Pointing towards Rita, Nikhil said, “l am

the only son of her mother’s son”. How
is Rita related to Nikhil ?

(A) Aunt (B) Niece
(C) Mother (D) Cousin

37.

39.

40.

Choose the best alternative.
68:130::7:350
(A) 210
(C) 222

(B) 216
(D) 240
Bharati is 8 ranks ahead of Divya who

ranks twenty-sixth in a class of 42, What
is Bharati's rank from the last ?

(A) glh
(B) 24"
(C) 25t

(D) None of these

Choose one number which is similar to
the numbers in the given set.

363, 489, 579
(A) 562 (B) 471
(C) 382 (D) 281

If the seventh day of a month is three days
earlier than Friday, what day will it be on
the nineteenth day of the month ?

(A) Sunday
(B) Monday
(C) Wednesday
(D) Friday

KecaC : CacK : : XgmF : ?
(A) EmgF (B) EgmX

(C) FmgX (D) GmeF
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31.

32.

35.

=11=

If& VEHEMENT =1 VEHETNEM forman
ST 2, @ MOURNFUL 1 36t %52
o g forar smam ?

(A) MOURLUFN

(B) MOUNULER

(C) OURMNFUL

(D) URNFULMO

TR 1 T Y 10 3 T a9 9L gEAt
ST GHH T 9L BT |

(A) 10 B) 9

(C) 18 (D) 20

U IS 9191 H '617' %1 219 2 ‘sweet and
hot', ‘735" =1 319 2 ‘coffee is sweet’ 3K
'263' =1 319 2 ‘tea is hot', a1 ‘coffee is

hot' 1 HIe 98 © F- T 81 2

(A) 731

(B) 536

(C) 367

(D) 399 & IS &l

I dey w2 F1 FeT U 2 aw day o =
g2

(A) %18 (B) i

©) f&= (D) e

21 =l AR 3 Fa g0 Ffer 7 =,
“§ Imeht Ay i 9 F FFHA GF & )7
frarfrg o e g waftme ?

(A) g3 (B) st

(C) wman (D) ==t 5

37.

38.

39.

40.
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ed 3ugE faed 94 |
68:130::7:350
(A) 210
(C) 222

(B) 216
(D) 240

42 feenféiat it v wen ° oo =71 26 &
T ¢ saifes uret 3o@ 8 T 31 B | et
=1 1= 3i1fow @ fopemn 2 2

(A) 93t

(B) 2473t

(C) 254f

(D) ¥ ¥ i3 T

T § T A1 I g S g g

Al % TR F U A |
363, 489, 579

(A) 562
(C) 382

(B) 471
(D) 281
7 forelt 7 =1 wiaa fod JERan | i

o qea % 2, 1 36 wEH = 3EEan i
7 I ?

(A) T=ar
(B) ©HER
(C) FHar
(D) IERAR
KcaC : CacK : : XgmF : ?

(A) EmgF (B) EgmX
(C) FmgX (D) GmeF
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41.

42.

43.
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ili) Arithmetical and Numerical Ability

27\ 75
Simpilified form of(—] is
64
A - B i
(A) 16 (B) 9
3 4
—_— D B
(C) " (D) 3
The HCF of 325 and 481 is
(A) 12
(B) 13
(C) 28

(D) None of these

The number of terms of the A.P. 15, 10,
5, ... should be added to make the sum
—75is
(A) 9 (B) 10

(C) 11 (D) None of these

LCMof2,3,4,9is

(A) 1 (B) 3

(C) 72 (D) 36
4x-1 2%-5

If(-z] :(E] then x =
/ a

(A) -1 (B) 1

© % (D) 2

486.

47.

48.

49.

50.

The product of two numbers is 2028 and
their HCF is 13. If the numbers are of
two digits, find the numbers.

(A) 13,39

(B) 156, 13

(C) 52,39

(D) None of these

If a2 = 3, b? = 6 and ¢2 = 8 then abc =
(A) +12
(B) =4
(C) =6

(D) None of these

The least number which when divided

by 18, 24, 56 leaves a remainder 2 is

(A) 504 (B) 76
(C) 506 (D) 16
If 245 - (J2 TQ then x =
(A) 0 (B) —1
(C) 8/7 (D) -8/7

The greatest number that divide 132

and 77 leaving remainder 2 in each

case is
(A) 15 (B8) 11
(C) 25 (D) 5



00 000000 0O 0 0O 0 0 MKG-XXX/TECHJIHG/1T/06
iii) FeRNTOTES va SR araan

o7\ % 46. 1 HEASA! F UAEA 2028 T I IH
41, (_] 1A T2 TEHH TEEAE 13 & | AR @ ar
9 16 FF IR, AT RS ?
(A) 16 (B) o
(A) 13, 39
C - o -4 (B) 156,13
(€) 4 (D) —'5 !
42. 325 37 481 % & ©) 925
. 481 %1 HexH GHGEGH .
(D) ¥4 | s T
(A) 12
B) 13 47. 3k a?=3,b%2=6Tdc2 =84l abc =
(C) 23 (A) 12
(D) ¥ & s 7 (B) +4
(C) +6
43. wWiGT 97 15,10,5,..%F U= (D) 399 & F15 TEl
St & 9 —75 B
. 2 48. 98 =J7an v, 5 18, 24, 56 ¥ 9T
L (B) 10 T I 2 AR
(C) 11 (D) 8 ¥ 1S 7 (A) 504 (B) 76
44. 2,3, 4, 9 ST TUTA o (SS06 L
(A) 1 B) 3 = 2
© 7 i 49. AR 25 - (2)" dix=
(A) O (B) ~1
4x-1 2x-5 (C) W (D) Al
o w7 i e
b a 50. 9% g9 st @Ea el 132 v 77 #i
(A) —1 (B) 1 | 3 T ST & Aol | 19 2 37T B
(A) 15 (B) 11
ey 7 (D) 2
A (C) 25 (D) 5

13-
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51.

52.

53.

55.

-14-

3
If 4 2+2% =144 then x =

@A) 2 B) 2
3

(C) 3 (D) 4

LCM of two numbers is 432 and their
HCF is 72. If one number is 144 the
other is

(A) 216
(C) 126

(B) 16
(D) 612

If 22 =3P =6"Cthen ab + bc + ca =
(A) 0 (B) 6
(C) 36 (D) 1

The recurring decimal 0.2111.... can be
expressed in the fractional form as

)~ @) =
100 a0
19 19
(€) 119 (D) g1

If m = a* n=a¥and a? = (mYn*)? then
Xyz =

(A) 0
(B) 1
(C) 2
(D) 4

56.

57.

58.

59.

60.

10 O 0O 0

}/ oy
lfx =373 +3 /3 then the value of
3x3 —9x is

(A) 9 (B) 12
(C) 8 (D) 10
2m+n ’ 32m . 5m+n+1 - 6n
Value of =
6™ -10™".15™

@ 2 ® -

2 2
(C) i (D) None of these

4

Which of the following rational numbers
will have non-terminating repeating
decimal form ?

A : B !
A) 8 (B) 80
2 17 5 1
(C) 5 (D) -
Value of <1 1 L,
g R oS YL el
(A) 1 (B) 0
1
(C) - (D) None of these
HCF of fractions E and E. is
3 81
& 12 (B) 16
3
G ‘1— D £
(C) 81 (D) o



51.

52.

53.

55.

=15-

3
afe 4 242 =144 Fix =

() 2 B) 2
3
(©) 3 (D) 4
3 TS 1 T qETIE 432 2 3
391 HETH GHITEAE 72 & | 31w ge
1442, T gmii a2 7
(A) 216 (B) 16
(C) 126 (D) 612

gfe2a=3b=gCatab + bec+ca=
(A) 0O (B) 6

(C) 36 (D) 1

T eyHed 0.2111... R F g d

Tore e =il s g @ ?

21 19
Ay — -4
@ 100 ®) 90
o 1o 1
(©) 119 ) 51

afd m = aX, n = a¥ 3 a2 = (mYn¥)Z at
XyZ =
(A) 0
(B) 1
(C) 2
(D) 4

57.

58,

59.

60.
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IR x=35+375 R a3 -ox TR E
(A) 9
©) 3

(B) 12
(D) 10

omin 32!11 p 5m+n+‘l 6"
6™ -10™"-15"

FHEE

B) 1
2

(D) ¥ & 13 T

(A)

(©)

98 U 61 9T e ST Sadt
HTA FEIHE 7

n 1 8 —
A 3 ®) 25
C i Dy -
© - ©) -
1 1
1+\‘?;'“_"+1-t-3!1’"'l i 8
(A) 1 (8) 0
©) % (D) 7 & =g 7

fim w2 v 18 & mewn gamadn 2

3 81

(A) L (B) 16
3

L 2

(C) = (D) =
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61.

62.

63.

66.
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iv) Hindi Language and Comprehension

&= amw s =y

T e T B E 7 67. UGHTH % e B R,
(A) TH (B) = Tt ST & g 3R SRomdE urg A
(C) i (D) =m AT R |
fopeft T 36 W AV 3 S T (A) ==

FEAE | (B) FH
(A) FofTe (€) S
(B) = (D) 378 & g &
(C) &
(o) A 68. 39 AT FI IAHH FIA ¥ FEfeIT |
_ . o8 U T 4T |
T T | et
wa (B) d& TG |
(B) Z (C) TEUGTH 2 |
(C) i
- S (D) 378 | =13 T

‘ 69. T % form w9 & 7= 319 &, & =i =
ijﬁﬁiﬁ% ? R A B, A A A e
© 14 D) 10 3 #I I W w@ R, 9
Torm TR 2 |

i fHulE = v fFe Frsd s g ? (A) 3TFHF
(A) (B) (B) TFH®F
(C) =H (D) SeH (C) wmd=
o ol 1 g R A A e | (D) A A
ST ® | 39 =g #° el :
B 70. T H TH FAT e F 994 2
(A) T (&) =g Y
(8) T (B) T HATEl T2 FAT
(©) s () S A T
(D) 378 & =1 7 (D) ¥ & S TE
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71.

72.

73.

74.

75.

47-

¥ arm i & fom,
T 3T T8 F4 o for, F=9 S ey &
HIFIEA £ |
(A) ST FIHT
(B) = g
(C) Tl v
(D) =8 & g 7

s fohy P fovemr s g 7

(A) =E
(B) I

(C) =msE

(D) 3 & Fi$ 7

e & oG 9 ¥ 78 yar 99+
T H B 3T F97 BT 91, S1YET 39

Tl =1 ga & o 38 I
FEdE |

(A) BgegmR. (B) T

(C) @i (D) HHr=E

arer | foraen wnfese grsE 2 |
(A) ST 99T

(B) Tsemenss ar

(C) Tormrnfz St ary
(D) HeE gas A

(A) @

(B) ™

(C) Zmedt

(D) 3% & s &

76.

78.

79.

80.
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feraor i (2~ ) 1 ST o Tk ST 2 7

(A) FIT I H, T FFl (@A
fog

(B) TS 9T & 319 = TF T T
% feru

(C) z&= v faream @ foredt ama =t e
F foru frr st 2

(D) ¥ & 1 T

feyrersl FAdft T e R ?
(A) Thi

(B) wrHEt

(C) sursft

(D) FH & 13 AL

Trstep forg (- ) =1 w2 e for e 2 7
(A) ¥ ISd 99
(B) W&l F |
(C) =, it 3nfe w1g wehe FA & forg
(D) 398 9§ g 7

Fea FAFEA B ?

(A) afea Jea & 5 §T Ieal
(B) T JeId H & §Y VIedl Al
(C) ¥ 3T WeId | & §U &4l i
(D) 399 | =18 TE

o wgnett & fim-fim g frds @t w
w9 3 o ot v ord 8 T R, At
39 T FEd & |

(A) s

(B) AR

(C) %@

(D) 7 ¥ =g T
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v) English Lapguage and Comprehension
J AT SR A

Read each sentence to find out whether there
is any error in it. The error, if any, will be in one
part of the sentence. The alphabet of that part
is the answer.

81. All my (A)/brother in laws (B)/are
management graduates (C)/no error (D).

82. He (A)had completed (B)/the project (C)/
last year (D).

83. “She can't sing (A)/much than (B)/four
songs at (C)/a stretch”, he informed (D).

84. A part (A)/of the (B)/mango are (C)/
rotten (D).

85. The merit (A)/of these books (B)/are
known to everyone (C)/no error (D).

Fill in the blanks by choosing the correct
connector given below them.

86. She has changed a lot
| saw her last.
(A) when
(B) before
(C) while
(D) since
87. We must leave now it is
getting dark.
(A) aslongas
(B) as soon as
(C) when
(D) since

Add suitable question tags to the following
statements from among the choices given
below them.

88. We must watch what we speak, ?
(A) must we
(B) mustn’t we
(C) shan't we
(D) dowe

89. It was a fatal accident, ?
(A) isit
(B) didn’t it
(C) wasit
(D) wasn'tit

90. Nobody helped you, ?
(A) isn'tit
(B) did they
(C) would they
(D) none of these

Each of the following idiom is followed by
four meanings. Indicate/mark the apt/correct
answer.

91. To wash dirty linen in public.
(A) to quarrel openly
(B) to clean solid lines

(C) tounderstand the hidden meaning
of the word

(D) to wash dirty clothes

92. Between the devil and the deep sea.
(A) adeep sea diver
(B) to be evil tempered
(C) in adilemma
(D) a man who is drowning
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In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

93. No one tried to intrude on his zone of
silence.

(A) Encroach
(B) Ponder
(C) Lament
(D) Comment

94. A Man was standing on the pavement.
(A) Floor
(B) Footpath
(C) Road
(D) Stage
95. He rested his arm jauntily on a studio

prop.

(A) Carelessly
(B) Confidently
(C) Angrily
(D) Cheerfully

Fill in the blank choosing the appropriate words
from those given below them.

96. Could you please tell me the
of a cup of tea.

(A) Prize
(B) Price
(C) Praise
(D) None of these

MKG-XXX/TECHJIHG/1T/06

Fill in the blanks with appropriate prepositions
from among the choices given below them.

97. We have had enough his
tantrums.

(A) of

(B) on

(C) from

(D) at

98. Veronica came
(A) under

(B) by

(C) since

(D) onto

a legacy.

Choose the best way to complete these passive
voice sentences.

99. Thirty more people last

week.
(A)
(B)
(©)
(D)

were laid off
were layed off
were laying off

were lie off

100. A story

(A) will be making up
(B) will being made up
(C) will be made up

(D) will been made up
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101.

102.

103.

104.

108.

{00 00 0 A 0

SECTION-B

Post Specific Subject-Related Questions

The materials which either burns itself
or adds heat to a fire is

(A) Non-combustible materials
(B) Inhibited materials

(C) Combustible materials

(D) Non-flammable materials

Residential occupancy as per NBC is
classified under

(A) Group A
(C) GroupC

(B) Group B
(D) Group D

The emergency lighting system shall
be capable of continuous operation for
a minimum duration of even
for smallest premises.

(A) 60 minutes
(B) 1 hour 60 minutes
(C) 30 minutes
(D) 1 hour 30 minutes

Area from which escape is possible in
only one direction is

(A) Covered area
(B) Dead end

(C) Compartment
(D) Building entry

First aid fire fighting equipment generally
consists of

(A) Firstaid (B) Hydrant
(C) Fire buckets (D) Sprinklers

106.

107.

108.

108.

110.

i

Other than residential and educational,
all other buildings exceeding
require automatic sprinkler system.

(A) 30m (B) 12m
(C) 60m (D) 15m
Which gas produce profuse flow of tears

without causing death or any other
harm ?

(A) Blister gases

(B) Bromo-benzyl cyanide
(C) Diphenyl-cynarsine
(D) Chlorine

Expand MCP.

(A) Manual Call Point

(B) Miniature Call Point

(C) Minor Call Point

(D) Mapping Circulation Point

Helipads are required for high-rised
building of height above

(A) 24 meter (B) 60 meter
(C) 20 meter (D) 45 meter

When is the “Air Force Day” celebrated ?
(A) September 1 (B) October 10
(C) October 8 (D) September 7

What are the elements of a fire triangle 7
(A) Heat, fuel and petrol

(B) Heat, gas and fuel

(C) Oxygen, CO, and fuel

(D) Heat, fuel and oxygen



101.

102.

103.

104.

105.
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Ut wferiees faea — wasf ava

A T i W9 i ST oid & 91 AT 0 T
A SR

(A) FEEa vard

(B) wiewfera erd

(C) &g werd

(D) IrsaTee g

ey Srferdi e o SgER
¥ 3iaia arfia © |

(A) &8 A (B) ¥4E B

(C) ®qe C (D) ¥ D

FTIeFTel TehIeiTa WoTe! B¢ 8 Bie 9hE
7g Ht =Eem i Ely a@ e
vftenfera 2 o gem 2 =i |

(A) 60 fime

(B) 19 60 W2

(C) 30 e

(D) 1921 30 fi=e

g foe ¥ Fae s & w8 9w s
ova 2

(A) afE &3

(B) 7d 3@

(C) feear

(D) ¥AWA # wiafee

YRR 11 18 SUR HE:
FIFAEAE |

(A) SUHTER - (B) BEEE

(C) M anfeeal (D) &=

106.

107.

108.

109.

110.

111.
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a3 et & srfafem, o=
gft @ afus aeh uwal @
T S YOIl o1 STavasal 2
(A) 30m (B) 12m
(C) 60m (D) 15m

gy o et o1 JoFEE & fom et T
3ig % fereh yare i 30 FE 8 7
(A) feoee

(B) SHI-SSIEH HIAES

(C) TRHIATEA-HFAREA

(D) FAITH

MCP =it faarfia = |
(A) IS Hie =TT
(B) forfiuan #ie wmse
(C) WIS Hic gL
(D) Affm Febeiw wge

BeA1ds 1 JTEATIRAT SH! FATA] F forg
vsdt 2 fomehi 3= galmme
(A) 24 Hix (B) 60 i

(C) 20X (D) 45 e

“ Ty BT Tem AT S € 7
(A) 1 Taase (B) 10 s
(C) 8 o= (D) 7 fomst

o A Bye Faa g ?
(A) F=, $o9 3 e
(B) Fw1, g 3R 344

(C) FTafisH, CO, 3N g8
(D) FeaT, 3y 3T StTeRtoH
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112.

118.

114,

115.

116.

117.

118.

-22.

NBC stands for

(A) New-York Building Code

(B) National Building Code

(C) National Business Committee

(D) National Broadcasting Committee

Chemical formula for carbon dioxide is
(A) CoH, (B) CO
(C) CO, (D) COOH

RADAR stands for

(A) Radio Detecting and Rating
(B) Radio Analysis Data Receiver
(C) Radio Detecting and Ranging
(D) Radio Department of Airlines

The audible and visual alarms should
activate a the operation of CO,
installation.

(A) same time

(B) few hour before
(C) few minutes before
(D) after

What is the colour code of foam fire
extinguishers ?
(A) White

(C) Magenta

(B) Grey
(D) Red

Normal temperature of a human
body is

(A) 100°F
(C) 108°F

(B) 98.4°F
(D) 96.2°F

What is the full form of BIS ?

(A) Bureau of Indian Standards

(B) Bachelor of Information Science
(C) Bachelor of Indian Standards
(D) Bureau of Industrial Standard

119.

120.

121.

122.

123.

124.

Any building used for more than one
type of cccupancy is called as

(A) Multiple Occupancy

(B) Mixed Occupancy

(C) Dangerous Occupancy

(D) Combined Occupancy

Tetrahedron of fire represents one
of the four basic requirements fuel,
temperature, oxygen and

(A) uninhibited chain reaction

(B) heat

(C) flame

(D) air

Which colour is normally used for exit
route signs ?

(A) Red (B) Green

(C) White (D) Yellow

What is the colour code for 68°C bulb
type sprinkler ?

(A) Red (B) Blue

(C) Black (D) White

Rescue without any appliances or
equipments is known as

(A) Critical rescue

(B) Building rescue

(C) Ordinary rescue

(D) None of the above

IS specification for control van for fire
brigade is

(A) 942: 1968

(B) 101 :2005

(C) 957 : 1967

(D) 105: 1948
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113.

114,

115.

116.

17

118.
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NBC 1 qu faram &

(A) =i fafeen =g

(B) == fafeen =i

(C) Fvme fawaw =i
(D) AT HiSHIET FHid

FIeH SEATFAITS Fl THEAF G 2
(A) C,H, (B) CO
(C) CO, (D) COOH

RADAR 1 i foram 2

(A) e feefaem ue fem

(B) izt wferfam grer fdftat
(C) e feefaen dg Im

(D) Iz feardne 3w wes

T 3R F=A AW F CO, A=A F
16 1 R < |- L L
(A) Fg &

(B) $® i v

(C) FB e v

(D) =T

R I 3 feTe vl e R ?
(A) vaa (B) =it
(C) = &+t (D) &«

T IR 1 G adE &
(A) 100°F (B) 98.4°F
(C) 108°F (D) 96.2°F

BIS =1 uf faeam /e & 7

(A) = A sfeaT Hesa

(B) S=e 3ATE FHUYA UEH
(C) SR 3T 3fsaq WA
(D) = 3T sefgas g

119.

120.

121.

122.

123.

124.
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UF § AT YRR % AT 2 T '
A FERG _ FEcAd 2 |

(A) =g Ffeam

(B) Tufsm arfengm

(C) @awTh Ffem

(D) &g afersm

AT 1 SgTegH AR FHATET ST
a9, qOEE, ATFHTST § d UH FI
yfafferes s 2

(A) fafg ggen sfufman

(B)

(C) sareTn

(D) &=

aferte wvl faedt &g oma: S8 @ @
T feR S € 7

(A) <t (B) &

(C) vad (D) e

68°C He aicdl TR I IV FE T ¢ ¢
(A) & (B) e

(C) Hrem (D) vaa

Torm ot =iy Suso S aEE
FEAar € |

(D) 3% | ® HI3 A8
e faire i & 3 1S Fifan
(A) 942 : 1968 (B) 101 : 2005

(C) 957:1967 (D) 105: 1948
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125.

126.

127.

128.

129.

130.

TAC and Insurance Companies
encourage installation of

in buildings by providing substantial
reduction in insurance premiums.

(A) Helipads

(B) Sprinkler systems
(C) Lifts

(D) Guard rails

When was it decided to set up a Central
Air Raid Precautions Committee in
India ?

(A) 1938
(C) 1940

(B) 1945
(D) 1937

Which of the following is not a first aid
fire fighting equipment ?

(A) Hose Reels

(B) Fire Extinguishers

(C) Fire Buckets

(D) Sand Buckets

Which of the following is not a toxic
gas ?

(A) H,S
(C) CsH,

(B) CO
(D) NH4

Manual Call Point should be installed at

a height of above the floor
level.

(A) 1.5m ‘B) 1.4m

(C) 1.7m (D) 1.9m

What should not be done in case of a

fracture ?

(A) Support the injured part well

(B) Open clothing immediately

(C) Do not attempt to set the broken
bone

(D) Do not give food or drink

131.

132.

133.

134.

135.

First atom bomb was dropped on
Hiroshima on

(A) August 6, 1945
(B) August 9, 1945
(C) August 12, 1945
(D) August 5, 1945

Earthquake intensities are measured
using a

(A) Nominal scale

(B) Barometer

(C) Hydrometer

(D) Richter scale

is used to lift materials like
stretchers, fire extinguishers etc.

(A) Bight

(B) Rolling Hitch

(C) Thumb Knot

(D) Figure of Eight Knot

The hydrant is not used for this purpose
(A) To extinguish the fire with the help
of water

To be used by the trailor pump
parties of civil defence

To be used by the fire brigade if
required

To be used by the workers for
cleaning purpose

(B)
(©)

(D)

is the lowest temperature
at which the heat from the combustion
of a burning vapour produces sufficient
vapour to enable combustion to
sustain.
(A) Flash point
(C) Fire

(B) Spark point
(D) Fire point



125.

126.

127:

128.

129.

130.

TAC 3 sfiar Fafai sawat o siftem &
FH & g * AT =
e 2dt 2|

(A) Befite

(B) H=4 WurTedt

(c) far

(D) ME =

IRA H U FE1d A1 S wrEenat et
AT S =1 Fota e foram mn 7

(A) 1938 (B) 1945 '

(C) 1940 (D) 1937

Trafafaa 4 9 =9 91 vF ygRiTER A=
T8 T A B 7

(A) &= T

(B) ™ s

(C) ¥ wifeear

(D) T it Tifeeat

Frafafaa 4 9 #F-d v S 19
TR ?
(A) H,S
(C) C,H,

(B) CO
(D) NHj4

A R 65 B % T A

i Farg o siferarfie feram ST =nfe |
(A) 1.5m (B) 1.4m

(C) 1.7m (D) 1.9m

Tl g2 W 72 fewan e =R 7

(A) =TI W W D! G WA AT

(B) G@ HUS IATAT

(©) T & 1 T SE W W A
& B

(D) W= 31 97 F& g

131.

132.

1383.

134.

135.
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[GUNEIRIE RS =l
T T |

(A) 3T 6, 1945
(B) 3R 9, 1945
(C) 37T 12, 1945
(D) 37T 5, 1945

A
STt 2 |

(A) e ar

(B) rfiex

(C) g

(D) frex Fumn

AR, A e e
I g2 1 33 & fee TR smar 2 |
(A) @3

(B) Tfem fe=

(C) 9« e

(D) 318 & JTHR I Aie

FRSZ 1 WA 36 R % fow = fen

S1G1

(A) Tt 6t FEEE F 3T GHAT

B) fafow wam i Ter W9 wféat g
Foin

() 3fg aifsa & @ R faiig g
T

(D) UHTSH ILIF B HAAT GRT TN

o ST BRI AT

TE ZAAH AT & o WU
STeid! a9 % G © T TATe arsT 3
el & Ik ge T @ T |
A =ufeg  (B) fomd fag
(C) =i (D) = fig
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136.

137.

138.

139.

140.

141.

All building above 15 m of height are
considered as

(A) Light hazard buildings
(B) High-rise buildings
(C) Group A buildings
(D) Group H buildings

The temperature at which a liquid turns
into a solid is

(A) Freezing point

(B) Evaporation

(C) Boiling point

(D) Transmission of heat

These are fires involving flammable
liquids or liquefiable solids

(A) Class B (B) Class D
(C) Class K (D) Class C
Expand TAC.

(A) Territory Advising Committee

(B) Transport Awareness Committee
(C) Trail Analysis Corporation

(D) Tariff Advisory Committee

Industrial buildings of high hazards
are permitted only upto

height.
(A) 20m (B) 18 m
(C) 24 m (D) 15m

Which amongst the following is not a
water based fire suppression system ?
(A) CO, extinguishing system

(B) Drencher system

(C) Wet riser system

(D) Foam protection system

142.

143.

144.

145.

146.

T 1 O O O

lonisation detector responds to the
invisible products of

(A) Combustion (B) Radiation
(C) Sparks (D) Heat

What is the auto ignition temperature of
petrol ?

(A) 120°C - 200°C
(B) 700°C

(C) 1500°C

(D) 246°C — 456°C

Which of the following is false in relation
to protection against the Air Raids under
various circumstances ?

(A) Plug your ears with some cotton or
cloth available

(B) Lie flat in a ground with your face
upward

(C) Do not run for cover if there is no
time

(D) Never look up until “All Clear” signal
is given

How do you enter a smoke-filled room ?
(A) Crawl

(B) Running

(C) Bending

(D) Walk looking upwards

What is the full form of I1S1 ?

(A) Indian Standards Institution

(B) International Standard Institution
(C) Internal Standard Institution

(D) Indian Service Institution
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140.
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147.

148.

149.

150.

151.

152.

183.

Rescue with equipments like ropes,
ladders, stretchers, pullies etc.

(A) One man rescue
(B) Group rescue

(C) General rescue
(D) None of the above

One Trailer Pump Party is provided for
a population of

(A) 30000
(C) 35000

(B) 50000
(D) 45000

As per the fire safety plan, after first two
years fire drills should be conducted at
least once in every
(A) 2years

(C) 6 months

(B) 1year
(D) 3 months

IS specification for fire protection and
safety signs

(A) IS 12345 : 1988
(B) IS 12346 : 1988
(C) 1S 12347 : 1988
(D) IS 12349 : 1988

When do we celebrate Civil Defence
Day and Home Guards Day ?

(A) 6 November
(B) 16 November
(C) 6 December
(D) 26 December

What is the boiling point of water ?
(A) 36°C (B) 200°C
(C) 100°C (D) 100°F

Which of the following is not an
emergency rescue method ?

(A) One man rescue
(B) Human cradie
(C) Fireman’s lift
(D) Reverse lift

154.

155.

156.

157.

158.

Why 14" of April is considered as Fire
Services Day ?

(A) Fire Amendment Act was passed

(B) One of the worst fire accident took
place in India

(C) First fire Marshall’s birth date
(D) Fire services started in India

The power of nuclear weapons are
measured in terms of

(A) Kilo Tonnes (B) Kilo Watt
(C) Kilogram (D) Kilo Joules

are emitted from the nucleus
of atom, having a radiation effect which
can cause skin burns.

(A) Alpha particles
(B) Beta particles
(C) Gamma particles
(D) UV radiations

Hydrophobia is a disease suffered by a
victim when he

(A) fears seeing water
(B) fears seeing blood
(C) fears seeing hills

(D) fears seeing plants

Sprinkler provides protection for
buildings from

(A) External fires
(B) Internal fires
(C) Window fires
(D) Roof fires
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159.

160.

161.

162.

163.

Emergency methods of rescue : Human
cradle

(A) carry the casualty on the back of
the rescuer

to carry the casualty in arms

to give support to a casualty to
walk

one rescuer has to deal with
(rescue) the casualty

(B)
©)

(D)

LPG is a mixture of

(A) propane and methane
(B) butane and methane
(C) propane and butane
(D) ethane and methane

gases.

e

How does foam extinguisher control oil
fire ?

(A) Starvation
(C) Cooling

(B) Smothering
(D) Inhibiting

For apartment buildings of height
, there should be a control

room on the entrance floor with

communication system.

(A) 35 m and above
(B) 45 m and above
(C) 20 m and above
(D) 30 m and above

When was the nuclear explosion test
conducted by India in Pokhran at
Rajasthan ?

(A) 18 May, 1976

(B) 18 June, 1975

(C) 18 May, 1974

(D) 8 May, 1974

164.

165.

166.

167.

168.

is the immediate and
temporary care given to an injured person
until the service of a doctor is available.
(A) Ambulance
(B) Emergency service
(C) First Aid
(D) Emergency rescue

Fusible solder and quartzoid bulb are
the types of

(A) Sprinkler heads
(B) Hydrants
(C) Lighting systems
(D) Detectors

How does water hammer occur in
hoses ?

(A) if we don't use nozzles
(B) if we don’t maintain proper pressure
(C) shutting-off of valves suddenly

(D) if not operated by a trained
personnel

Starvation process means
(A) Removal of heat

(B) Removal of fuel

(C) Breaking chain reaction
(D) Removal of oxygen

The transmission of heat can be achieved
through conduction, convection and

(A) lonisation
(B) Metals
(C) Liquids
(D) Radiation
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(D) 8W3, 1974
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169.

170.

171.

172.

173.

174.
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Density = Mass/__
(A) Volume

(B) Area

(C) Perimeter

(D) Specific gravity

Density of water is
(A) 0.9 g/lem®

(B) 100 g/em?®
(C) 1000 g/cm?
(D) 1 g/em?

is the whole set of precautions
to prevent the outbreak of fire and to
limit its effects.

(A) Fire extinguishing
(B) Fire prevention
(C) Emergency service
(D) Fire services

If the temperature rating of fusible link
type sprinkler is 93°C then the colour of
yoke arms is
(A) White
(C) Blue

(B) Red
- (D) Orange

Standard pulse rate in an adult ranges
from

(A) 75-85 (B) 60-70

(C) 70-80 (D) 65-75
Expand AFFF,

(A) Aqueous Film Forming Fluoro

Protein Foam

Aqueous Film Forming Fluoro
Foam

Aqueous Film Forming Foam
None of the above

(B)

(C)
(D)

175.

176.

177.

178.

179.

180.

The rescuers or first-aiders use
method to carry casualties
to safer places in emergency cases.
(A) Rescue (B) Human cradle
(C) Ladder lifts (D) Blanket lift

In cities and towns, hydrant inspection
should be carried out at intervals not
exceeding
(A) 1year
(C) 6 months

(B) 2years
(D) 1 month

What is the size of gas cartridge used
for a 9 Itr. water extinguisher ?

(A) 100grams (B) 60 grams
(C) 200 grams (D) 500 grams

Where is drencher system installed ?
(A) Roofs, windows and external
openings

Inside the buildings

Inside the ships

Inside the oil tanks

(B)
(C)
(D)

is provided when supply
of normal lighting fails.

(A) Fire alarms
(B) Detectors
(C) Emergency lightings
(D) Fire sirens

Which is the best extinguisher for
electrical fire ?

(A) Foam extinguisher
(B) Water extinguisher
(C) Water buckets

(D) CO, extinguisher
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181.

182.

183.

184.

185.

The fracture in which broken parts of the
bone injures the internal vital organs like
blood vessels is known as

(A) Simple fracture

(B) Complicated fracture
(C) Compound fracture
(D) Comminuted fracture

Latent heat is measured in
(A) Newton per kilo volume
(B) Newton per kilo pascals
(C) Joules per unit volume
(D) Joules per unit mass

Wet Riser System is permanently

charged with for the purpose
of fire fighting.

(A) Water (B) CO,

(C) Foam (D) DCP

Which among the following is not a
flammable gas ?

(A) Propane

(B) Methane

(C) Sulphur dioxide
(D) Hydrogen sulphide

Route forming that part of the means of
escape from any point in a building to a
final exit is called as

(A) Escape Route
(B) Assembly Point
(C) Lift

(D) Fire Damper

186.

187.

188.

189.

190.

The methods of extinguishing fires are
classified under starvation, smothering
and

(A) Combustion
(B) Cooling

(C) Blanketing
(D) Evaporation

Convection requires a circulating
medium for transmission of heat and
occurs only in

(A) Combustible metals

(B) Solids

(C) Liquids and gases

(D) Non-combustible metals

What should not be done on hearing of
evacuation instructions ?

(A) Do not try to use lifts

(B) Collect your personal belongings
(C) Do not run or shout

(D) Do not go to cloakroom

are designed to operate
when a detecting mechanism or
element reaches a pre-determined
temperature.

(A) Fixed temperature detectors
(B) lonisation detectors

(C) Optical detectors

(D) Infra-red detectors

LPG stands for

(A) Liquified Products of Gasoline
(B) Lightweight Petrol and Gases
(C) Liquified Potassium Gases
(D) Liquified Petroleum Gas
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191.

192.

193.

194,

195.

is the lowest temperature
at which the vapour produced by a
substance will flash momentarily when
a flame is applied.
(A) Flame point
(C) Flash point

(B) Burning point
(D) Fire point

can be used even by
building occupants except during fire
emergencies.

(A) Fire lifts

(B) Passenger lifts
(C) Escalators
(D) Elevators

Choose the odd one out.
For your own safety you should know

(A) Operating instructions of fire
extinguishers

Nearest exit from your table
Your assembly point
Maintenance of fire equipments

(8)
(C)
(D)

Process of fire extinguishment in which
the extinguishing agent is used to
prevent the development of chemical
reactions in the flame and sustaining
the fire is called

(A) Inhibition
(B) Fire stop
(C) Fire resistance
(D) Fire load

How water extinguishers extinguish
fire ?

(A) Breaking chain reaction

(B) Removal of fuel

(C) Cooling

(D) None of the above

196.

197.

198.

199.

200.

To locate the hydrant, a board is erected
having painted letters as

(A) Emergency

(B) Use Me

(C) Fire

(D) Fire Hydrant

Industrial buildings of hazard
are permitted only upto 18 m height.
(A) low and moderate

(B) high and dangerous

(C) light

(D) medium and high

According to the emergency plan fire
drills are to be regularly conducted at
a minimum frequency of

for the initial 2 years.

(A) 5years

(B) 3years

(C) 6 months

(D) 3 months

When is Army Day celebrated ?
(A) 1%t February

(B) 15t January

(C) 318! December

(D) 4™ December

procures,stores and
distributes Civil Defence equipment
whenever required.

(A) Depot and transport services

(B) Welfare services

(C) Rescue services

(D) Supply services
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iefiani % fere wevergot srgaw

13.

14.

15.

17.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method
O®00

Wrong Method

08® 00

Wrong Method

O0®00

Cormect Mathed|

O8O0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one guestion, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
inthis Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14,

15.

16.
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19.
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